


Project : modify 1 pre-made indicator

I have a request of modifying 1 pre-made indicator.
This pre-made indicator shows Top and Bottom boxes on chart.
I hope you to arrange current buffers to see 3 kinds of boxes easily.
Firstly, remove current v1, v2, v3 and v4 in data window, please.
And current v5 ~ v8 will be renamed as “Common Top Box Upper Value”, “Common Top Box Lower Value”, “Common Bottom Box Upper Value” and “Common Bottom Box Lower Value”.
And I hope a function in parameter to draw box or not, and the default setting is False not to draw objects on chart.

Arrange all buffers in OIH_SR_Boxes_v1.1

v1 (Common Top Box Upper Value)
v2 (Common Top Box Lower Value)
v3 (Common Bottom Box Upper Value)
v4 (Common Bottom Box Lower Value)

v5 (Weak Top Box Upper Value)
v6 (Weak Top Box Lower Value)
v7 (Weak Bottom Box Upper Value)
v8 (Weak Bottom Box Lower Value)

v9 (Untested Top Box Upper Value)
v10 (Untested Top Box Lower Value)
v11 (Untested Bottom Box Upper Value)
v12 (Untested Bottom Box Lower Value)

v13 (Verifieded Top Box Upper Value)
v14 (Verifieded Top Box Lower Value)
v15 (Verifieded Bottom Box Upper Value)
v16 (Verifieded Bottom Box Lower Value)

If there is only Weak Top box and no Bottom box, then it will show v1 == 1.12345 && v2 == 1.12345 && v3 == 0.00000 && v4 == 0.00000 && v5 == 1.12345 && v6 == 1.12345 && v7 == 0.00000 && v8 == 0.00000 && v9 == 0.00000 && v10 == 0.00000 && v11 == 0.00000 && v12 == 0.00000 && v13 == 0.00000 & v14 == 0.00000 & v15 == 0.00000 & v16 == 0.00000 on current candle

If there are Weak Top box and Untested Bottom box, then it will show show v1 == 1.12345 && v2 == 1.12345 && v3 == 1.12345 && v4 == 1.12345 && v5 == 1.12345 && v6 == 1.12345 && v7 == 0.00000 && v8 == 0.00000 && v9 == 0.00000 && v10 == 0.00000 && v11 == 1.12345 && v12 == 1.12345 && v13 == 0.00000 & v14 == 0.00000 & v15 == 0.00000 & v16 == 0.00000 on current candle

If there are Untested Top box and Verified Bottom box, then it will show v1 == 1.12345 && v2 == 1.12345 && v3 == 1.12345 && v4 == 1.12345 && v5 == 0.00000 && v6 == 0.00000 && v7 == 0.00000 && v8 == 0.00000 && v9 == 1.12345 && v10 == 1.12345 && v11 == 0.00000 && v12 == 0.00000 && v13 == 0.00000 & v14 == 0.00000 & v15 == 1.12345 & v16 == 1.12345 on current candle



A new indicator will be “OIH_SR_Boxes_v1.1”.





Requirement(s)
∙ It should work properly as I described.
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